Multiplication and Money

Name: Da‘re:‘
1. 136 X 1000 = 6. It cost Jimmy Blackvell $65.45
O 1360 O 136000 per metre to buy 6 .me'rr'es of
carpet. How much did he pay?
O 13600 O 1360000 O $392.00 O $392.07
O $392.70 O $392.40
2. 574 X 100 = 7. Total saved by each child.
Sophie: $2.75 pw for 6 weeks.
Joe: $3.25 pw for 5 weeks.
3. 756 X 1000 gives the same Mary: $6.75 pw for 2 weeks.

answer as:

O 7560 X 100 O 7560 X 10

O 756 X 100 O 75600 X 100

Cost of 6rand Final ticket:
$34.50.
How much for 8 tickets?

O $256.00 (O $276.50

O $256.50 O $276.00

. Which will give the greatest
answer?
O 563 X 100 O 9678 X 10

O 64 X 1000 O 90094 X 1

Greta: $4.65 pw for 3 weeks.
Who saved the most?
O Sophie O dJoe

O Mary O 6reta

8. Saved $10 pw for 2 years.
Total saved is:
O $520 O $1000
O $1040 O $2080
9. ($65 X 10) + ($72 X 100) =
$

10. $88.80 X 1000 = $
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